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Nwms: Jara: Onenka:
X -3 —x+3 Ox> — 26x° — 4x + 40

X+ 5 —8x— 12 X+ 8 — 39x— 270

8x” + 64x 7% — 49x

63x° + 250x” + 308x + 120 X =9 +21x— 49

X+ 16x% + 83x + 140 X+ x
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Nwms: Jara: Onenka:
X =37 —x+3 0x® — 26x° — 4x + 40
(x+ DEx—1)x—3) (Ox+ 10)(x— 2)(x — 2)
X+ 57 — 8 — 12 X + 8x> — 39x — 270
(x—2)(x + 6)(x + 1) (x— 6)(x + 9)(x + 5)
8)62 + 64x 7x2 — 49x
8x(x+ 8) Tx(x—17)
63x° + 250x° + 308x + 120 X — 9% +21x—49
(9x + 10)(x + 2)(7x + 6) (x— 7)0% = 2x+ 7)
X+ 16x° + 83x + 140 X+ x
(x+ 5+ 7(x+4) x(x+1)
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